Measurement Word Problems

1. A large fish tank has length 2.3m, width 1m and height 1.4 m.  If a small shark need 10ft3 of space, is there enough room?

2. The cylindrical tank on a fuel tanker needs to be repainted.  It measures 8m long and 3 m tall.  If a can of paint covers 8 square feet, how many cans of paint are needed?

3. The city of Ottawa stores salt in conical piles.  If the pile is 10 m wide and 7 m high what is the volume in ft3?

4. An official men’s basketball has diameter 10 inches.  An official women’s basketball has diameter 9 inches.  How much larger is the volume in cm3 of a men’s basketball.

Solutions:

1.  V 
= 2.3 x 1 x 1.4 

=3.22 cubic metres

=113.7 cubic feet.  Yes, it can fit.

2. SA 
= (2pi X r2) + (pi x d x h)

=2pi X 1.52 + pi X 3 X 8

=14.137 +  75.36

=89.537 square metres

=963.77 square feet

You would need 963.77/8 = 121 cans of paint

3. V 
=1/3 pi X r2 X h

= 1/3 pi X 25 X 7

= 183.26 cubic metres = 6471.8 square feet

4. V 
= 4/3 pi X r3



V = 4/3 pi X 4.53





= 4/3 pi x 53



     =381.51 cubic inches

=523.33 cubic inches

Difference
= 523.33 – 381.51 



=141.82 cubic inches = 2324 cm3

